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Exit Ticket:  Ratios, Rates, and Conversions

 1  You are shopping for jeans. City Express sells 3 pairs of jeans  for $61. 

Denim Planet sells 2 pairs of jeans for $73. New Threads sells 4 pairs of 

jeans for $110. Which store has the best deal? 
A City Express C New Threads

B Denim Planet D All jeans are the same price

What is the given amount converted to the given units?

 2  86 cm; meters

A 0.86 m B 860 m C 8600 m D 8.6 m

 3  An office building is 111 ft high. About how tall is this in meters?

A 333 m C 33.84 m

B 39.64 m D 364.1 m

 4  A car is driving at a speed of 45 mi/h. What is the speed of the car in feet per minute?

A 3,960 ft/min C 237,600 ft/min

B 1,935 ft/min D 2,700 ft/min
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 1  A

 2  A

 3  C

 4  A


